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| ' 1 1 = S+5 units = I~ .
J 2 18p+7p A 7 2 2 kn=18g
3 15x10= Z 3 2000+ 900+ 70 « 5= e
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& 43+47= i — y Ll
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_ 7 400-120 = 3 #(1 x9)+(10% 1) = 19 B il =i EE b E
3] 8 kg =g 4 ch two of these fractions D .. ... 38 and £0 22 £1.4
e equivalent? 8 Wp- - )
1] ) £3 =0 5ps 60 5ps @ @ 3 3 3 & . - 2 SR L ne
L5 5 7 4 13 i0 3 = 51 3103+ 97 = e rost of
4 L 5 One 20p ar i e 2 =
A ) ) change fre 10 Wiite 44 using Roman numerais XL b four lemons? b B
_ W £267=" 10ps+7p 26 10ps been spent? 5 3
-] . g
{ | W P e 1w 1 = Mo 50m E
p 12 (g of 42) + (5 of 30) = 13 6 Write the missing signs.+, —, x or + .
e of @and A B (@x9)+8= 3 | @ B B B Wikt

1 Find the total of 29 and B1 110 g ._ [ i et 1 Cier

[ _ N 7
L+ 4 =7 - &=
|
]

round the rectangle than the

i . distance round the sguare? 4mm 1
| 2 What is the change from a 50p | | 8 of 14 boys and
14 after spending 19p and 18p? 13p E = e
I 14] = Subtract £1.27 from £2 73n On of §
3 ease 20cm by 20mm 18cm T 2 Subtract £1.27 from £2 3p :
L ) v 6 |
B 4 Multiply 6 by 12 and add 8 80 2 b
| 8 |If kg of fudge costs £1, find the . g = A
5 cost of 4 Add 6o the productof 7 a 55 3 e
" 12cm a 100g B 10p : : : 5 e
P 3 b 300g b 30p -
I, £1.14 : ; :
9 Add .:.:mm.mcp_nwmm: of 24 to 5 6 28pplus 46p plus " p = £1 26p 3 —
7 Write 40 using Roman numerals. XL il 2 R : ! favou
’ e 10 Samina was born in January but 7 NbMa nm.mmm_ua AUmBers betyween a :
B JLE > H_@ __.,ow Ly 30 Hassan was born 5 months earlier L & ’m_m
L0 R In what month was Hassan born? August | :
] ! 8 Increase 125cm by 25mm 10 How f T 1
& g9 How many 5ps are equal to £2.757 55 5ps 11/ Five biscuits of equal value cost 40p. g a mass of :
3 3 4 kg pa B
\What do three of the biscuits cost? 24p g How many metresin 25¢cm x 82 <1 25 Ru§
10 1

10 12 Tom and Sophie travel from home
to school and back once a day.
How many kilometres more does

monthsiof the year? 61 days Sophie travel in 5 days than Tom? Zkm , |
11 How many years frc

10 Fight pens cost 64p. What did
one cost?

mass of 10 packets

School

a 1900g

o

change from four 20ps A00m

GO0

- 12 If one sticker costs £0.05, find the .
i Tt Sophig cost of 100 £5.00

r buying eic




SECTION 1 | Test 1

12

B Answer

1

ThH T U Wiite in words t

number shown

on the abacus

m k two thousand and fifty-four

(Ix9)+6=
548 =13 8
Semdmm = -~ mm 94mm
23/p ==~ £2.37
80:x10 = 800
(18+3)-(16+4)= 2
w + w = 5
28p+80p=¢£ £1.08
£6= 50ps 12 50ps
1h50min = * ' min 110min
300 -175 = 125

Add four hundred to ane thousand

and ten. Answer in digits 1410
Increase 29 by 33. 62
Find the change from 50p

spending 28p. 22p
Multiply £0.40 by 8 £3.20

Write 87 to the nearest 10 90
Divide 200 by 10 20
\Write as £5 the sum of 26p, 28p

and 50p; £1.04

27p = 5ps plussix 2ps 3 5ps
How many tenths in 1 12 “c
Subtract 36p. from £1, 64p
How many 2ps have the same

value as four 10ps? 20 2ps
Find the cost of one if 10 cost £1, 10p

not
t a remainder?

[1 246 89| .

Find the value of the mis

Ing num

& many greater 54 x 7
than 4 + 77 17

This clock i
14m|
Write the

correct time

9.07 p.m
avening

By how much is the value of fifteen
2ps less than the value of nine Sps? 15p
If 100g of flour costs 30p,
how much will 3509 cost? £1.05
(54 + 9+ {3 x12)= 42
Arrange these digits to make the
largest possible number.

07 8 1 a710
Find the length in centimetras
of the marked |ength, 3em

T2cm
; E
& T
fem
\j

If $kg costs 86p, how much
will Wrm cost? £1.29
Signs on a motorway are 100m apart.
Find in kilometres the distance
between 11 of the signs. Tkrm
Wame the two rectangles, each of
which has three quarters shaded. X Y

Th H T U s the
number shown
180+ 30 =
600+ 10 =
98mm="cm = mm
Bx T2+ 7=
Z0cm= B m Mom £m
240-70 =

Write 37 using Rema

210

AR XM

=31

Write in digits three thousand one
hundred and fourteen.

By how many grams is 820qg less
than 1kg?

Divide Tm by 5. Answerin
centimetres.

Find the change fram a 50p after
spending 16p.

Find the cost of one if 10 cost £2.
How many eighths in 5 whole anes?
84p=710ps+ = 2ps

ind the sum of £0.24 and £0.69,

What must be added to 75p to
make £1.507

How many minutes from 7.47 a.m
to 8.15a.m.?

One costs £0.49. Find the cost

of three. £1.47

Find the difference between
7x9and9xb

3114

180

20cm

28min

(]

two _m..,.n_mm., fracuons

ﬁu 6 13 4
__ﬂ_‘__:__:._:

Find th
and (7'x 100)

Write the sum of £0.36, £1.24

and £1.40

How many children
the four classes?

difference between

10

Class 1 | Class

25

Tood 5

Tany &
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SECTION 1 | Test5

1 = I | 1
29 500 = tens 50T
Li 10
i 3 3+ =
4 Bocm
5
B il
7 44min
i
| 8 Z
5 15-6=1+3 6
10 77p +25p = £1.02
_ N (5x9+16= 61
_ .
i 12 (72=9)+(0=3= g
!
Ful
N |w Answer
1 Find the sum of £1.80 and £t £1.98
i
| -
J 2 Subtract 40 am 15cm 11cm
3 ree thousand
3059
4 15
v 4y hours after midday.
Usea.m. or p.m 415 p.m
|
._ 810
P
1
q
| £1.56
4500
9. Find in centimetres, wm_ of half a metre 15cm
at s the product of 5 and 757 375
11 What must be added 1o 13p a
16p to equal 40p?
12 Find the cost of one scarf if
10 cost £25 £2.50
|
F e 7P Trr——
f i
| ¢! LT
el i F's
J
i [ = &

many

she get? 6 20p:

on the third da 42km

ban costs 12p per
Find the cost of 125cm 30p

8y how much is 25p divided by
5 less than 25p multiplied by 87 £185

Ryan saved 55p each week for
8 weeks. How much short
of £5 did he save? £0.60

10 Georgia had 45p left after spending
08-and losing £0.27,
How much had she at first? £7.80

1 The children were placed in twa
mxed-year groups of equal numbers
How mary children were there in
each class? 31

verside School

mber Year 5-—33
dren Year 6— 29

12 Write the missing Signs +, — x Or £
in place of @ and A

S@5A6=8 ® A

Divide £4.20 by 7,

Subtract 60cm from 1

Write in digits th
is 22 hours after
Use a.m, or p.m

Find the sum of £0.48 and £1.54

Write 59 using Roman numer,

18p+ 18p+ 18p + 18p = 12n

How many 50ps would be exchanged
for £9.507 19/50ps

osts 25p. £2.50

Find the cost of 10 if o

How many flowers each cos
n be bought for £27

F
buying six ban

How much gre
than 42p = 67

e change |
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ok SECTION 1 | Test 12

4
L)
X 6 l 6 104 1 =
4 5
| 410
¢ Rt 4 i 300
| hi8] a '
2] min 1500mmn — — — | B
tfi) e £4,50 : b 6
A il s
| | n (5 % 6 26 4
| 5 8 1zkg q 900g 3
y ¥ | 100 25mm = B e e 200m 3
' | AT I 2 ] { - X 100 (5% 7)+{10%x8)= 115
14 LW & 0 3 3 1 ] |
& | n m. 161 i 3 B0 i ) :
| min 1h 1 4t-200ml = 5507l
i b _____,._ Fiowy T T
" B70m 20m 12 (36 +9)+ (100 + 10} = 14 T
! 7 W imber whern mult g

sell equals 647 B
B get

Wiite the lenath of a line 100 times 5
longer than the line Y2 1 Find the sum of 73 and 48 121 hours is hein E

a |n centimetres a 650cm 8
) 1 2 Write 1560mm as metres
b 2tres, b 6am and millimetres, Im__ 560mm =
#4 96 0 :
| 3 Find hall of th f 12p and 18p 15p
¥
4 What is the product of 4, 5 a 120
q —MH ol a sum f v
Find the whole amount £50 2 Lucy has three times o5 much as lakob 5 How many eighths are there
wha has 45p. How much have they in 7 whole ones? 9
8 Wiite 96 using Ror XCVI altogether? £1:80 b
10 ¥ Thisis a 6 Find the cost of 24 eggs at 6p each.  £1.44
(] 100g \
plan of a
4 C playaround 7 What is the remainder whan
o~ 61 is divided by 97 7
378 > i

70m

8 How many years are there

: C
" How many times must George run from 1984 to the year 20207 36 '
"9 raund it in order to run km? 5 .
| ! ass than 10007 3
g e & it h_é ob salticosts A, 9 What number (s 101 less than 10007 899
find the cost of 9,00
10 to 5 times 9 63 10 100 chocolates cost £10.00,
a 100g a 8p Find the cost of one 100 b
1 cost 300, b 600g b 48p
st 90p Add the numbers between
P | @ ”E these decimals in b 20 and 35 that can be divided
W _ mw_,.m:n__;u :.amﬁ||.. exactly by B 56 a 2060
12 9440 how many _ 69 63 131 19 37 |
the 4 marked | . - = 12 Find the cost of 33 m of ribbe :

11 the 4 marked y? 10 131 6.9 E] T 149 16p per metre 56p




1 L ] ' v 1 LA | o | i | I A e 15019 & g AYTT L i 1 1 ] "
i Ly AL [ JUTENS AL _._____...._.___. v —

SECTION 1 | Test 9 Schofield & Sims Mental Arithmetic 3 Answers SECTION 1 Test 10

1 i 3 Op 1 £1.00=14p="Np
1 £240+70p=£ £3.10
= 2 15mm % 10="icm
2 1Em=Mem 175cm 2
a
10mm 3 £150+£260= £4.10
3 Bpx12=E
S 4 5450m = km @ m Skm £ 33 Th ound
4 17mm+18mm= " cm 32c . angth ¢
5 2/pxd=f¢ £1.08
5 (Ex8)-d=x7)=
4 _ a
A% 3 6 z of £3.00=
& £200-£218=1p 82p 5 P
B LGS ar c 87 L ( 7 Write 8 hundredths as a decima
v | @ =l = 5
g2 _8 8 Sdays= 'l hours 120h
10 [ T
1 3 e = . - B
8 4500m = km azkm > 9 ee=n=-0= u
. : 5 it 10 L1-389ml= " ml
0 = distance in J
centimetres A : S
1 2yr e 1 Im="'mm 1000mm
this regular .
2 = 30min - _— hexagan? 36cm 12 (9% 6)+(10x 5} = 104
Bom
than § of 127 1
1 Subtract 8 from 103 g5 1 Increase 57 by 35 g2 7
7 Put these decmals in ascending order. ;
2 ame of the coin = 2 Half of a sum of money is 49p
i e 053 501 135 351 151 | What is the whale amount? 98p
0.53 35 157 3.51 5.01 |
3 F nths of 80cm 4Bcm _ = . 3 How many 10cm lengths
are thera in 5m? 50 52
e b 8 The diagram shows how three
4 By how many centim friends shared £5. How much |
e of Aty 4 fy the sum of 5 and 4 by 8 12
2m greater than the sum of did each child have? Hassan £1.50 z / 9. |f1lof milk costs 70p,
0; d 90cm? 30cm
i J J Slenna £2.50 5. How many pence in 3 of 40p? 15p
Hassan Sienna Abi - Ll 2 S 3 a -
5 R JIETTH | Abi £1.00 e
1105 6 7x =098 b 5
Find the missing number 14
= 9 Which three cains are given in change
( i ? 2 | : = 10
from £1,after spending 83p7 1op _Sp B 7 Write the time mj pefore 12.05 a.m
Use a.m. or p.m. 11.35 p.m
5 10 If 27 January is a Wednesday, what |
date is the following Wednesday? 3 February & 420 minus 80 equals 300 plus 40
8 How many m
to 270ml to make 230m| | W' Thescale shows the mass of a g What is the cost of eight aranges
bag of sugar. How much will it if one orange costs £0.197
- n
9 s total of a“ mang MW o 2 m cost if the price 15 30p for 100g7 £1.35
yoo 200 300 dgg ¢ _ 10 ﬂ___:p_ ":m difference between ° e
10 5300g 1o the nearest kilogram 5kg : | ; 0y 3 and 3 -
11 Divide the sum of 19.and 16-by 5 7 11 How much short of 3m |s 265¢m?
. - 12 By how many is 15 times 100 - i YUK ”
12 ising Roman numerals less than 3 times 10007 1500 12 Wiite 81 using Roman numerals. hafhe YR P
12 -
: :. Ak Mo Lt b DM _
i L ._:.-_.. _h_... it
._m__-h ¥ _.__._ fi \ PUIRE AR
F U L] i { | { i 'a1is i oy
i \A._,:_h j‘._ B ! arl




SECTION 1 | Test 7

H_ 6 _
mn L1/

2 f£150+65p=t¢

3 11600ml= 1600mi
4 2000 + + 6'=2036 30
5 38+9=1"r A 2
6 Fromnoontod415pm.= 'h min 4h 15min
T2 70/x100= 7000
B (Ox7)+(8x5)= 102
9 4046454 = 4100
m 1V-B-4= 5
W 252ps=1 10ps 5.10ps
12 (492 7)+ (362 6)= 13
1 Find the product of 6and 14 84
2 Haw much greater |s
5 than £3.317 £1.69
3 Find the 1otal of the odd numbers
between & and 12 27
5 are equal to "
£
5 Multiply 12p by 7 B4p
& Subtract 200g from 1kg s0g
7 Four pencdils cost 60p. Find the cost
of one pencil 15p
8 Find the difference in length between
» 13mand 135cm 15¢cm
g9 Write 96mm to the
nearest centimetre; 10cm
10 How many times smaller is 80
than 80007 100
11 100 cost £4.00
What is the cost of one? ap

12 Write as £5 the value of
thirty-nine 5ps

If they share their money equaily,
how much does each have?

Write the next two numbers in
the sequence
B8 7006 W 1 2

Find the cost of 500q if

200g cost 40p £1.00

How many times larger tham 25 is
a two hundred and fifty a 10

b twa thousand five Rundred? b 100

5 A concert started at 7.15 p.m.

The programme lasted for 1 hours:
There was-also a 10 minute interval.

At what ume did the concert end? 8.55 p.m,

6 Write 4m 45cm as

A445cm
4450mm

a centimetres a

b ‘millimetres. b

-~

Find the change from £2 after buying
w.h kg of cheese at 40p per kilogram. T0p

Five less than three thousand one
hundred. Write the answer in digits,

oo

3095

w

How many greater is the sum of the
odd numbers in the box than the sum
of the even numbers?

[ 30 35 39 42| 2

10 Freya has 80p pocket money.
She saves m and spends the remainder.

How much does she

a saye a ___1&p

b spend? D __ 64p

Mine trays, each containing six cakes,

were bought for a party, If nine

cakes were left over, how many

had been eaten? __45

N

12 Write all the numbers between 40

and 60 which are multiples of 7 42, 49, 56

=
L}

|

i

6 10p+10p+5p—ldp=

7 118mm=Mcm 11cm
p: ;
g 23kg= g 27509
10 (7=6}+(E=0)= 42
11 48 hours= " days 2 days
12 (4 of 27)- (3} of 8) = 2
1 Wiite 84 using Roman numerals LXX X1V
2 \Write 47509 1o the nearest kilogram Skg
3 Find the product of 8 and 65, 520
4| How many teabags costing 6p each

can be bought for £3.007 50
5. ‘How many months in five years? B0
6 What must be added to £2.52

to make £57 £2.48
7 A Bdcm strip is cut into eight equal

pieces. Write the length in millimetres

of one piece 80mm
8 Multiply 16 by 7. 112
9 Decrease m_.w_j by 50cm :

Answer In metres, dam
100 |f one yoghurt costs 9p, find

the cost of 100 £9.00

11 Find the difference between
(136 + 66) and (10 x 2

12 How many 2ps have the same value
as twenty 5ps?

7

cost of 20 swe

Find the value of the
+25

134+ 19=

t fraction
7

0f s0ap
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